RESOLUTION OF THE WHITE MOUNTAIN APACHE TRIBE OF THE FORT APACHE INDIAN RESERVATION

WHEREAS, the McNary Community has petitioned the Tribal Council for authorization to use the \$11,000 remaining in their Land Claims Recreation Fund to improve and install playground equipment at a park located next to the McNary Store and adjacent to Highway 260; and

WHEREAS, a written petition signed by Community members and a prepared list of purchases has been presented to the Council for its review and is attached hereto; and

WHEREAS, the Tribal Council concurs with the Community's request as proposed herein.

BE IT RESOLVED by the Tribal Council of the White Mountain Apache Tribe that it hereby approves the request of the McNary Community to expend the remaining \$11,000 of its Land Claims Recreation Fund for improvement of the McNary Park and for the purchase of playground equipment, in accordance with the Budget attached hereto and incorporated by reference herein.

The foregoing resolution was on May 08, 1991, duly adopted by a vote of <u>SEVEN</u> for and <u>ZERO</u> against by the Tribal Council of the White Mountain Apache Tribe, pursuant to authority vested in it by Article V, Section 1 (i) of the Amended Constitution and Bylaws of the Tribe, ratified by the Tribe June 27, 1958, and approved by the Secretary of the Interior on May 29, 1958, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).

Chairman of the Tribal Council

(Acting)

Fougher Benashly
Secretary of the Tribal Countil

1. 161 6 1 1 1 1 1

HUMT APACHE INDIAN AGENCY

Recreation Design Concepts, Inc. 4747 East Elliott Road, Suite #29-474 Phoenix, Arizona 85094 (602) 437-5297

		Total	\$8,425.00	
1002	Whirl, 10' Rainbow	1@\$1,269.00	\$1,269.00	45
1002	Swings, T-For-Three	1@\$633.00	\$633.00	37
, 1420 1397	Swing, Phy. Act.	1@\$569.00	\$569.00	41
9102	Swings, Hi Toprail 10' All Galv. 4 seat	1@\$735.00 s	\$735.00	39
5812	8' Slide	1@\$846.00	\$846.00	33
5480	4' Slide	1@\$562.00	\$562.00	33
76	Mini Scoop	2@\$212.00	\$424.00	63
357	Fun-A-Muls, Prancin Pony	2@\$264.00	\$528.00	64
830	Climber, speedy spider	1@\$643.00	\$643.00	21
16	Bench, 6' straight leg	4@\$248.00	\$992.00	96
600	Goa1	2@\$59.00	\$118.00	H
6436	Steel net	2@\$299.00	\$598.00	11
411	Basketball Equip. Post Backboard &	2@\$254.00	\$508.00	75
Part No.	Description	Quantity	Price	Page No.

Other costs will be incurred for the following items:

Chain-Link-Fencing Lumber Grills Picnic Tables Sand Cement Petition for Park drupeonement Project

1. Luelon Wach

2. Eleaner Hell

3. Carol K. All

4. Wille Dezen

5. Michy Benally

6. Mary I Benuty

7. They Touke of Total &

9. Helda Hite

10. Ceiffer) tersons

11. Dorinda Kessay

12. DeGshine Buintle

13. Milledy Burneta

14. Jewy Burnette fr

15. Way Comol Burnette

16. Orlines Cerry

Petition for Park duprovement Project 1. Pearl tox Martine, Colorge 2. Frez Beall 3. Veda Carroll 4. Constain Carroll 5. Paul Kunnery 6. Rayda Celaya 7. Welenay Harvey 8. Kita Norre 9. Mutthew History 10. Berlinea Perry 11. Wallace Perry 12. Dreighe Burnette 13. Wilburson Burnette 14. Tirzil Hintor 15, Darroll Bunett 16. Januar Caroll

17. Veron Junton 18 Vris Kinney 19 Donner Klat 20. Wilson Burnette Jr. 21. Diverly Fisher